: 79
he Cause of Moon Phases
Figure 1 shows Earth, the

. ; Un, and five dj i iti r the Moon during
one full orbit (dotte'd line). It js importlea\:i td:tir:ar}lt &ziséﬂf_ﬁgﬁ'g??ﬁef?woo“’S surface is
illuminated by sunlight at 4 times. For each of the five positions of the Moon shown below,
the Moon has been shaded on gng Side to indicate the half of the Moon's surface that

s not being illuminated by suniight, Note gt 1. drawing is not to scale.

1) Which Moon position (A-E) best corresponds with the Moon phase shown in the
upper-right corner of Figyrg 19 Make sure that the Moon position you choose correctly
predicts a Moon phase in whigh only a small crescent of light on the left-hand side of the
Moon is visible from Earth.

Enter the letter of your choice:
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Figure 1

th for the four

low, sketch how the Moon would appear from Ear .

e blc?sr;zoac;,x;sa? %ju did not choose in Question 1. Be sure to label each sketch with
mzocnofresponding letter indicating the Moon’s position from Figure 1.

|
]
o e LECTURE-TUTORIALS FOR INTRODUCTORY ASTRONOMY
Educ ’ £
© 2008 Pearson - Addison-Wesley.

SEeconD EpiTion
Publishing as Pearso

e A R e e




80 The Cause of Moon Phases

n of the
’ B ) atey which portio
) Shade in each of the four Moons shown in Figure 2 10 indicato

Moon's surface will not bo iluminated by sunlight,

Usae Figure 2 (o answar Quostions 4-7.
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Figure 2
4) Which Moon position (F-I) best corresponds with the Moon phase shown in the
upper-right corner of Figure 2?

Enter the letter of your choice:

5) How much of the entire Moon's surface is illuminated by the Sun during this phase?

Circle one:

a) None of the surface is illuminated.

b) Less than half of the surface is illuminated.

c) Half of the surface is illuminated.

d) More than half of the surface is illuminated.

e) All of the surface is illuminated.

6) How much of the Moon's illuminated surface is Visi

ble from Earth for this phase of the Moon?
Circle one:

a) None of the surface (visible from Earth) is lluminated

b) Less than half of the surface (visible from Earth) is illuminated
c) Half of the surface (visible from Earth) is illuminated |

d) More than half of the surface (visible from Earth) is iy
e) All of the surface (visible from Earth)
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E&EEUSB of Moon Phases L)

7) Would your answ
oSWwaOrs i
Slo Quusllons 5

phase rather than the ph and 6 change if the Moon were in the third-quarter

as - : '
45€ shown in Figure 27 Explain your reasoning.

8) Consider the following discussion between two students about the cause of the phases
of the Moon.

Student 1: The phase of the Moon depends on how the Moon, Sun, and Earth are
aligned with one another. During some alignments only a small portion of
the Moon's surface will receive light from the Sun, in which case we would
see a crescent Moon.

Student 2: | disagree. The Moon would always get the same amount of sunlight; it's
just that in some alignments Earth casts a larger shadow on the Moon.
That's why the Moon isn't always a full Moon.

Do you agree or disagree with either or both of the students? Explain your reasoning.

n Education, Inc., LecTure-TuToRIALS FOR INTRODUCTORY ASTRONOMY

© 2008 Pearso BTl Addison-Wesley. Seconp EpimioN

Publishing as P



- o
B2  The Cause of Mo

© 2008 Pearson Fotnation B
Pty A3 1 3 ; VE T Vv,
s e N
e feyvey PR 10y FYS R & i
-y g
St Bietiom




